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To Kill a Mockingbird by Harper Lee - "The Antebellum South and Maycomb”
Antebellum - existing before a war, especially the American Civil War

(Do Now): What is the name of this classic, American movie? How does this movie trailer
reflect the paradox of the Antebellum Old South?
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A)Whi‘ a stereotypical Southern Belle - as presented in myth and Hollywood
end? B) Is there any truth to this concept?
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2. When it beg ing in chpt. 8,
behavior is going to bring Appomattox on them. Appomattox was a battle of the

Civil War where the South was finally defeated and Gen. Lee endered. * What

d s this suggest about Maycomb attitudes toward the Civil War b\ ‘\“\L
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5. A) Aftticus tells Scout that they will not win the case? B) How can he be so sure? C)
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6. A) Write down a quote from Cousin Fr‘:ta‘c_is on p. 83. B) Explain why this is stronger
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7. A) Write down a quote from p. 88 showing Atticus’ attitude toward the case. B) M A;J:j}_
// __How dtrK.' this show Atticus' knowledge of his own beloved town? 4“/
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» Why would normally good people hold on to such backward and hateful ideas? & ’1,0uj)\ ? ,\lrbh

Does this make sense? - Explain in a paragraph.
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